2.138. Rozwiaz réwnania:

a) xX*+8=9x’

& ¥=11%'-80=p

2.139. Rozwigz rdwnania:

a) x—5Jx +4=0
c) 3x—74/x +2=0

2.140. Rozwigz réwnania:

a) x+tx—-1=7
c) x-3Jx+3+5=0

2.141. Rozwigz réwnania:

a) %/x_z—S%/;:O
| Pl _
c) 5\/;—5\/; 6

2.142. Rozwiaz rownania:

a) =2 1~2=10

¢) 2¢-5,x*+2+6=0

2.143. Rozwiaz rownania:

a) LEL =A/x +3-2

2
¢) 2Wx—1=5/x—-1-3

b) x*+28x°+27=0
d) x*~30=29x"

b) 2x—7+/x +3=0
d) 2x—3Jx +1=0

b) x+5Jx +2+8=0
d) 6x—+/x —-5-31=0

b) 0,5x* —25¢x +3=0

d) 24x —74/x +6=0

b) x*+4/x*+20=22
d] 5 =g —B= X — 81 1D

b) 6Vx +2 +74/x +2+2=0

d) Vx =5 =44/x -5-3



